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FR27HE WMHRBMERIR - RE - £/FAHER
1 INERR
F Ok 15% 2% 3% A5 5i% /M /N2 /N3 Y NS /NG
1 £ A 23 24 36 25 30 26 19 32 23 21 19 29
2 & & b 16 29 25 23 23 22 29 29 32 31 31 36
3 |& /I 18 18 23 23 13 20 22 19 16 16 18 18
3 BR i XX 57 71 84 71 66 68 70 80 71 68 68 83
X 3| D 67 54 62 77 76 66 64 59 86 67 84 86
5 [+ E /I 39 26 33 30 26 27 38 27 29 25 29 40
FEHK 106 80 95 107 102 93 102 86 115 92 113 126
AHRX 163 151 179 178 168 161 172 166 186 160 181 209
6 [BEE /I 37 48 66 53 54 75 69 69 67 73 71 76
7 (K E 18 25 30 31 26 32 35 28 22 30 26 30
AEBERXE 55 73 96 84 80 107 104 97 89 103 97 106
AREXBEEE 218 224 275 262 248 268 276 263 275 263 278 315
SE HEEt 970 1,093 1,114 1,092 1,112 1,082 1,116 1,125 1,062 1,050 1,058 1,170
2 pERK
Om% 15 2i% 3% 45% 5% /M N2 /N3 h NS he 22l $2 $3
1 W E & 57 71 84 71 66 68 70 80 71 68 68 83 57 76 80
2 |K & 106 80 95 107 102 93 102 86 115 92 113 126 92 110 116
3 |[KEE & 55 73 96 84 80 107 104 97 89 103 97 106 108 103 98
2Z hmEs 970 1,093 1,114 1,092 1,112 1,082 1,116 1,125 1,062 1,050 1,058 1,170 1,020 1,069 1,066
HE FEREBREAERERST TRIES5ARE
W = o X E & KAEBE b




